CELRELEER 3L

B xFaF3 A

HERS # B REES| T [wtum mm ﬁiﬁaﬁ&%&. ﬁ%ﬁ%
AAREERE (@] E=E 2l 30 30
1FERMIE AT I O EBE 2| 30[ 30
EREEI O EE 2 30| 30
ERERE (@) xR 1 16] 16
ERERR—Y (@) EH 1 24 24
RERE @] R 2 30 30
BERE Ex 2 30| 30
FELRERM (@] R 2 30 30
=@ (@) E=E 2 30 30
FELREXIER (@) xR 2 30 30
HEMEEI (@) E=E 2 30 30
ESUET e (@) xR 2 30[ 30
REDILEE (@] E=E 2 30 30
FELREXEDDER O EE 2l 30 30
BELEF (@) EE 1 16 16
FELORRE O EE 2l 30 30
FELDOREXRE (@) EE 2 30 30
HEFERR (@) R 2| 30 30
REANBHRSE (@) EE 1 16 16
8 EE(5ER) (@] EE 1 16| 16
A& FEE&) (@) EE 1 16 16
R E3sEE) (@] EE 1 16 16
g EWsER) (@) EE 1 16 16
ER KRR (EEX) O EE 1 16| 16
PREEERE (@) EE 7| 112 56| 56
MREERRR O EE 1 16 16
YREIREE (@) EE 1 16 16
w |PREER o | BE 1| 16/ 16
ILRBREI O EE 2| 30 30
& ARRAL (@) EE 1 16 16
s | |FELORELRSE @) EE 1 16 16
EERERE (@] EE 2l 30 30
M HEMEED (@] EE 1 16 16
#t FETCXE (@) EE 1 16 16
RE-BBEREE O EE 2| 30 30
2 KEHER o | @mm| 2 %0 20
HRDILESE O EE 1 16 16
BERBTEAMN O EE 4 60 36 24
BEXRER(GEEE) (@) EE 1 16 16
BlHZ U (HEEE) O EE 1 16 16
%R ENFERER (@) EE 1 16 16
HIREIREE O E=E 1 16 16
ERRRI (@] EE 1 16] 16
XEIL{EI O EE 1 16 16
B (Hm) (@) EE 3 50 30| 20
BEBEH O E=E 2| 30 30
BERRI * (@] EE 1 16 16
E7/EE * O EE 2 30 10] 20
B * (@) EE 1 16 16
REEE I * (@) EE 2 42 42




REEEI * (@) EE 6 90 16] 74
REEED * (@) EE 4 60 16] 44
CEEREBTELT Xk (@) E=E 2 40 40
YRAFHREERE EE 1 16 16
RIVTATEE (R-4) % O E£E 5 86 16| 16| 32| 22
HEEEEMERIEE (@) EE 1 16 16
GREEBEMEREE I (REM) O EE 1 8
GREEREEMEREE T (EH) O EE 1 8
2 |[REEEBEASEREED O EE 1 8 8
R [REEEEfS®kigED o | ®% 1| 8 %8
. BEXED (@] =5 2| 80 80
v gEEEQ o | == o 80 80
& |REEE I (RFEM O E£E 2 80 80
REEE I (FE @] E£E 2 80 80
B |[REEEI (@] EE 2 80 80
R |ga=8m o | == 2| %80 *80
PCEE I * EE 4 60 60
PCEEI * EE 2 30 30
PCEE * EE 2 30 30
— PCEEN * BE 2 30 30
% ESRAXEI % e 2 30 30
it —REE * T | 16 16
# | e EFRE * EE 2[ 30 30
T A ARBEET & #E 2| 30| 12| 18
H R AR X 2% 2| 30 0] 20
HE AEREEL . EE 2l 30 30
HE NEBREEN X e 2 30 30
HE ANEREEV X EE 1 20 20
=R g BEHBEESEE — 115 1946| 364| 406| 376 258| 356| 194
EREERESBEE — 2| 88 0 0 0 0| 80 0
e BEHBEESBEE — 24] 366] 12 18] 26] 140] 30] 140
EREERESBEE — 0 0 0 0 0 0 0 0
= Bt — 141] 2400| 376] 424 402] 398] 466] 334




ISLH LT LR 2 £E 4

B xFaF3 A

HERS # B REES| T [wtum mm ﬁiﬁaﬁ&%&. ﬁ%ﬁ%
TS5A45 IVER (@) E=E 6 90 30/ 30| 30
TS5 LA 1 (@) EBE 2 30[ 30
TS5A45 )L T E=E 2 30 30
ITSAFINARFa—L ] (@) xR 2 30 30
ITSAF I ARFa1—L1 (@] EE 2 30 30
TSA4FIWEH (@) R 4 60 60
IS4 I EESY (@) EE 4 60 60
TR IzTAVY (@) EE 6 90 90
RTILIRER (@) E=E 4 60| 30| 30
W |[7ovbFRL—ay ) b 2 30| 30
LAY —E REGEERE (@) E=E 4 60| 30| 30
s [LANSUH—EREE O EE 4 60 60
= LRNSUH—ERERK I (@] EE 6 90| 30| 30 30
LRSS —ERERKI @) E£E 3 90 60[ 30
F YR NTA—TR o | == 2| 60 60
il RREB)TARAUE EE 2| 30 30
<F—-7Joka—i Bt 2 30| 30
H ANTFTLID E£E 1 30 30
EEHER (@) EE 4 60 30 30
F—2IILE1—T1EE (@] EE 4 60 30[ 30
A=y T (@) EE 6 90 90
2
N
EDHRRERI BE 6 90[ 90
EDRRAEHKI R 4 60 60
NYaURE ] EE 3 90| 60| 30
" NRYIAVEET =5 2| 60 30 30
NYIAUEEREE EE 2 30 30
- " e ANEERE ] EBE 2 30 30
e | |HEAEESED #EE 2| 30 30
EX Ex 4 60| 30| 30
™ hEE %z a 60| 30| a0
=] IN—=IFILh5— EBE 2| 30 30
=
R
BRI E LEHBEXEERE — 72| 1170] 210] 270 300] 390 0 0
EREEEEFEHBE — 0 0 0 0 0 0 0 0
— R LEHBEXEERE — 31| 540] 210] 180 90| 60 0 0
EREEEEFEHBE — 0 0 0 0 0 0 0 0
= &t | — 103| 1710] 420] 450 390 450 0 0




